Warm Up November 14, 2018

1.) A length of a side of a{square 15. (x-4) Find the
[sum Jof the{area and perimete Jof the square.
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2.) A rectangle has a length ofl x 1nches and a

width( inches)less thanlthe length] JT the
dimensions areldoubled}what would the area of

the rectangle be? 5 '
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DIVIDING MONOMIAIS

+ step 1: Divide the_CO€

ficients

= Step 2: Use the QUOTIENT RULE to simplify the

exponents

QUOTIENT RULE:

x2 =Xa—b

ubtract the exponent
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SIMPLIFY THE MONOMIALS COMPLETELY. (Make sure to only do one step at a time!)
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NEGATIVE EXPONENT RULE:

NECATIVE EXPONENTS
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Recall the Quotient Rule:
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To divide a polynomial by a monomial,
divide each term of the numerator by the term in the denominator.
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